K0406

ZH 2l DIN 705, 2H|lg|A A&
=5 dY/HIE o|0|X]|
Rost
frei
\

49
THE:
AHQI2[A AR 1.4305.

. OF 2 AE{E DIN553(&R)
E H AE{E DIN EN ISO 4027 Z&/(SZ A3

DIN 7050 2t X|MHE ZR7F 223 =™ 2of ML
El = 2o gt 3% zst & o

HF
HL
0

cH
D3 D3
]
= .
i I = +—1 i
Bjs14 Bjsta
Z5 29
ZH 2 DIN 705, 2H|QIF| A AE!
FEHS EFQJ THE ME D1 B D2 D3
LIAF AEIE

K0406.100302 A AE|QIE[A AE] 3 5 7 M2x3
K0406.100402 A AE|RIEIA AE 4 5 8 M2,5x3
K0406.100502 A AE|QIE[A AE 5 6 10 M3x4
K0406.100602 A AE|QIE[A AE] 6 8 12 M4x5
K0406.100702 A AE[QIZ|A AE 7 8 12 M4x5
K0406.100802 A AE|QIE[A AE 8 8 16 M4x6
K0406.100902 A AE|QIE[A AE] 9 10 18 M5x8
K0406.101002 A AE[QIZ|A AE] 10 10 20 M5x8
K0406.101102 A AE|QIE[A AE 11 10 20 M5x8
K0406.101202 A AE|QIE[A AE] 12 12 22 M6x8
K0406.101402 A AHQIE|A AR 14 12 25 M6x8
K0406.101502 A AHQIZ|A AE] 15 12 25 M6x8
K0406.101602 A AE|QIE[A AE] 16 12 28 M6x8
K0406.101802 A AE|IQIEIA AE] 18 14 32 M6x8
K0406.102002 A AHQIZ|A AE 20 14 32 M6x8
K0406.102402 A AE|QIE[A AE] 24 16 40 M8x12
K0406.102502 A AE|QIEIA AE] 25 16 40 M8x10
K0406.102602 A AHQIZ|A AE 26 16 40 M8x10
K0406.102802 A AE[QIZ|A AE 28 16 45 M8x12
K0406.103002 A AE|IQIEIA AE] 30 16 45 M8x10

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 1/3



K0406

© HEINRICH KIPP WERK GmbH & Co. KG

ZHA 21 DIN 705, 2 H|elgj|A AE!
E= 209
FEWHS EFQJ TFEE AME D1 B D2 D3
LIAF AEE

K0406.103202 A AE|QIE[A AE 32 16 50 M8x12

K0406.103502 A AE|QIE[A AE] 35 16 56 M8x12

K0406.103602 A AE[QIZ|A AE] 36 16 56 M8x12
K0406.103802 A AE|QIEA AE 38 16 56 M8x12
K0406.104002 A AE|QIE[A AE] 40 18 63 M10x16
K0406.104202 A AEQIZ|A AE 42 18 63 M10x16
K0406.104502 A AHQIZ|A AE] 45 18 70 M10x16
K0406.104802 A AE|QIE[A AE] 48 18 70 M10x16
K0406.105002 A AE|QIEIA AE] 50 18 80 M10x16
K0406.105202 A AHQIZ|A AE] 52 18 80 M10x16
K0406.105502 A AE|QIE[A AE] 55 18 80 M10x16
K0406.105602 A AE|IQIEIA AE] 56 18 80 M10x16
K0406.105802 A AHQIZ|A AE 58 20 90 M10x16
K0406.106002 A AE[QIZ|A AE 60 20 90 M10x16
K0406.106302 A AE|IQIEIA AE] 63 20 90 M10x16
K0406.106502 A AHQIZ|A AE 65 20 100 M10x20
K0406.106802 A AE[QIZ|A AE 68 20 100 M10x20
K0406.107002 A AE|IQIEIA AE] 70 20 100 M10x20
K0406.107202 A AHQIZ|A AE 72 20 100 M10x20
K0406.107502 A AEQIE|A AE 75 22 110 M12x20
K0406.108002 A AE|IQIEIA AE] 80 22 110 M12x20
K0406.108502 A AE|QIE[A AE 85 22 125 M12x25
K0406.109002 A AE[QIZ|A AE 90 22 125 M12x20
K0406.110002 A AE|QIEIA AE] 100 25 140 M12x25
K0406.300302 E AE|QIE[A AE 3 5 7 M2x3

K0406.300402 E AEQIE|A AE 4 5 8 M2,5x3
K0406.300502 E AE|QIEIA AE] 5 6 10 M3x4

K0406.300602 E AE|QIE[A AE] 6 8 12 M4x5

K0406.300702 E AEQIZ|A AE 7 8 12 M4x5

K0406.300802 E AE|QIEIA AE] 8 8 16 M4x6

K0406.300902 E AE|QIE[A AE] 9 10 18 M5x8

K0406.301002 E AEQIE|A AE 10 10 20 M5x8

K0406.301102 E AH[QIZ|A AE] 11 10 20 M5x8

K0406.301202 E AE|QIE[A AE] 12 12 22 M6x8

K0406.301402 E AE|RIEIA AE 14 12 25 M6x8

K0406.301502 E AH[QIZ|A AE 15 12 25 M6x8

K0406.301602 E AE|QIE[A AE] 16 12 28 M6x8

K0406.301802 E AE|RIE|A AE 18 14 32 M6x8

K0406.302002 E AE|QIE[A AE 20 14 32 M6x8

K0406.302402 E AE|QIE[A AE] 24 16 40 M8x12
K0406.302502 E AE|RIE|A AE 25 16 40 M8x10
K0406.302602 E AE|QIE[A AE 26 16 40 M8x10
K0406.302802 E AE|QIE[A AE] 28 16 45 M8x12
K0406.303002 E AE[QIZ|A AE] 30 16 45 M8x10
K0406.303202 E AE|QIEIA AE 32 16 50 M8x12
K0406.303502 E AE|QIE[A AE] 35 16 56 M8x12
K0406.303602 E AE|IQIEIA AE] 36 16 56 M8x12
K0406.303802 E AHQIZ|A AE] 38 16 56 M8x12
K0406.304002 E AE|QIE[A AE] 40 18 63 M10x16
K0406.304202 E AE|IQIEIA AE] 42 18 63 M10x16
K0406.304502 E AHQIZ|A AE 45 18 70 M10x16
K0406.304802 E AE|QIE[A AE] 48 18 70 M10x16
K0406.305002 E AE|QIEIA AE] 50 18 80 M10x16
K0406.305202 E AHQIZ|A AE] 52 18 80 M10x16
K0406.305502 E AHE[QIZ|A AE 55 18 80 M10x16
K0406.305602 E AE|IQIEIA AE] 56 18 80 M10x16
K0406.305802 E AHQIZ|A AE 58 20 90 M10x16
K0406.306002 E AEQIE|A AE 60 20 90 M10x16
K0406.306302 E AE|QIEIA AE] 63 20 90 M10x16
K0406.306502 E AE|QIE[A AE 65 20 100 M10x20
K0406.306802 E AEQIZ|A AE 68 20 100 M10x20
K0406.307002 E AE|IQIEIA AE] 70 20 100 M10x20

www.kipp.com - info@kipp.com

2/3



K0406

°

Z# S DIN 705, 2|21 A A

5 2%

FEH= B¢ TgE ME D1 B D2 D3
LIAt AEE

K0406.307202 E AHQlE|A AR 72 20 100 M10x20
K0406.307502 E AEQE|IA AR 75 22 110 M12x20
K0406.308002 E AE[QlE|A AR 80 22 110 M12x20
K0406.308502 E AHQlE|A AR 85 22 125 M12x25
K0406.309002 E AEQEIA AR 0 22 125 M12x20
K0406.310002 E AEQlE|A A 100 25 140 M12x25

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



